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BOOKS - SAI MATHS (TELUGU ENGLISH)

TRIGONOMETRIC AND INVERSE TRIGONOMETRIC

EQUATIONS

Problems

1. The number of solutions of sec x cos 5x + 1 = 0 in the interval  is

A. 5

B. 8

C. 10

D. 12

Answer: B

[0, 2π]

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vYzVOnJst79i


Watch Video Solution

2. If  then a vaue of x is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

cos(cot − 1( )) = cos(cos − 1 x)
1

2

1

√6

−1

√12

2

√6

−2

√6

3. If , then 

A. 

B. 

tan θ tan(120∘ − θ)tan(120∘ + θ) = 1/√3 θ =

+ , n ∈ Z
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https://dl.doubtnut.com/l/_vYzVOnJst79i
https://dl.doubtnut.com/l/_fZglkhvb7cRV
https://dl.doubtnut.com/l/_NWzPKDgnasl3


C. 

D. 

Answer: A

Watch Video Solution
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4. If

and  then x =

A. 

B. 1

C. 

D. 

Answer: B

Watch Video Solution

sin− 1(x − + − …. ∞) + cos − 1(x2 − + − …. ∞) =
x2

2
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0 < x < √2
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https://dl.doubtnut.com/l/_NWzPKDgnasl3
https://dl.doubtnut.com/l/_rBo9rUdSXFU6


5. The sum of the solutions in  for the equation cosx cos 

 is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

(0, 2π)

( − x)cos( + x) =
π
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6. If x > 0 , y > 0 , z > 0 , xy+yz+zx < 1 and if

, then x+y+z equals to

A. 0

B. xyz

tan− 1 x + tan− 1 y + tan− 1 z = π

https://dl.doubtnut.com/l/_rBo9rUdSXFU6
https://dl.doubtnut.com/l/_JE1NwxLxLGHN
https://dl.doubtnut.com/l/_ou6Nkev4fd8x


C. 3xyz

D. 

Answer: B

View Text Solution

√xyz

7. The set of solutions of the system of equations  and cosx

+ cosy =  where x,y are real , is

A. 

B. 

C. 

D. Empty set

Answer: D

View Text Solution

x + y =
2π

3
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{(x, y) : cos( ) = }
x − y

2
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{(x, y) : sin( ) = }
x − y
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{(x, y) : cos(x − y) = }
1

2

https://dl.doubtnut.com/l/_ou6Nkev4fd8x
https://dl.doubtnut.com/l/_kkDpPypLpA7F
https://dl.doubtnut.com/l/_Kve18eS68u4y


8. If , then x is equal to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

cos − 1( ) + cos − 1( ) = cos − 1 x
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9. If , then tan 3x is equal to

A. 3

B. 1

C. 2

D. 0

tan x + tan(x + ) + tan(x + ) = 3
π

3

2π

3

https://dl.doubtnut.com/l/_Kve18eS68u4y
https://dl.doubtnut.com/l/_teDvIMn5Akkj


Answer: C

View Text Solution

10. If , then  is equal to

A. 

B. 

C. 

D. 0

Answer: B

Watch Video Solution

≤ x ≤ 1
1

2
cos − 1 x + cos − 1( + √3 − 3x2)
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11. The most general value of  which satis�es both the equations

 and  is

θ

tan θ = − 1 cos θ =
1

√2

https://dl.doubtnut.com/l/_teDvIMn5Akkj
https://dl.doubtnut.com/l/_zccwWC1RckwQ
https://dl.doubtnut.com/l/_NRZ9TowEOotk


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

nπ +
7π

4

2nπ +
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nπ + ( − 1)
7π

4

7nπ
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12. 

A. 

B. 1

C. 0

D. 

Answer: A

View Text Solution

(tan− 1 x)
2

+ (cot − 1 x)
2

= ⇒ x =
5π2
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https://dl.doubtnut.com/l/_NRZ9TowEOotk
https://dl.doubtnut.com/l/_de8mI5Kjq9IY


13. The set of solutions of the equation,

 is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(√3 − 1)sin θ + (√3 + 1)cos θ = 2

{2nπ ± + : n ∈ Z}
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14. If , then 1-xy-yz-zx is equal to

A. 1

B. 0

C. 

tan− 1 x + tan− 1 y + tan− 1 z =
π

2

−1

https://dl.doubtnut.com/l/_de8mI5Kjq9IY
https://dl.doubtnut.com/l/_YToyhRyXUlxY
https://dl.doubtnut.com/l/_gauSlXQ7XRc3


D. 2

Answer: B

View Text Solution

15. If 3 cosx  2 sin x , then the general solution of

 is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

≠

sin2 x − cos 2x = 2 − sin 2x

nπ + ( − 1)n , n ∈ Z
π

2

, n ∈ Z
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2

(4n ± 1) , n ∈ Z
π

2

(2n − 1)π, n ∈ Z

https://dl.doubtnut.com/l/_gauSlXQ7XRc3
https://dl.doubtnut.com/l/_CbHGhq0Ecfch


16. 

equals

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

cos − 1( ) − 2 sin− 1( ) + 3 cos − 1( ) − 4 tan− 1( − 1)
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17.  is equal to

A. 

B. 

C. 

{x ∈ R : cos 2x + 2 cos2 x = 2}

{2nπ + : n ∈ I}
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https://dl.doubtnut.com/l/_jlH8y5fki3X2
https://dl.doubtnut.com/l/_hK7t1DE8w23P


D. 

Answer: B

View Text Solution

{2nπ − : n ∈ I}
π

3

18. If , then x is equal to

A. 3

B. 5

C. 7

D. 11

Answer: B

View Text Solution

sin− 1( ) + sin− 1( ) =
3

x

4
x

π

2

https://dl.doubtnut.com/l/_hK7t1DE8w23P
https://dl.doubtnut.com/l/_FcUlPiMPtEa4


19. The value of x , where x > 0 and tan 

is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(sec− 1( )) = sin(tan− 1(2))
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20. If , then x belong to

A. 

B. 

C. 

cos 2x = (√2 + 1)(cos x − ), cos x ≠
1

√2
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https://dl.doubtnut.com/l/_T3JJn3gE03Ee
https://dl.doubtnut.com/l/_JUU5NWccn6sY


D. 

Answer: D

View Text Solution

{2nπ ± : n ∈ I}
π
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21.  is equal to

A. 

B. 

C. 

D. 0

Answer: C

View Text Solution

sin− 1( ) + 2 tan− 1( )
4
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22. If , then x belong tosin− 1(x) + sin− 1(1 − x) = cos − 1(x)

https://dl.doubtnut.com/l/_JUU5NWccn6sY
https://dl.doubtnut.com/l/_HCg3gPecg0j0
https://dl.doubtnut.com/l/_FPfUWjL8KZSh


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

{1, 0}

{ − 1, 1}

{0, }
1
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{2, 0}

23. The solution set of  in the interval 

A. 

B. 

C. 

D. 

Answer: C

(5 + 4 cos θ)(2 cos θ + 1) = 0

[0, 2π]
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https://dl.doubtnut.com/l/_FPfUWjL8KZSh
https://dl.doubtnut.com/l/_RoikEq03RyK2


View Text Solution

24.  is equal to

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

cos[cos − 1( − ) + sin− 1( − )]
1

7

1

7

−
1

3

0

1

3

4
9

25. If , then x is equal to

A. 

B. 

C. 

sin− 1(x) − cos − 1(x) =
π
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https://dl.doubtnut.com/l/_RoikEq03RyK2
https://dl.doubtnut.com/l/_geP7xerTpK0M
https://dl.doubtnut.com/l/_Zdn1AFcBYKzH


D. 

Answer: B

View Text Solution

−
√3

2

26. The equation , has

A. Only one solution

B. Two solutions

C. In�nitely many solutions

D. No solution

Answer: D

View Text Solution

√3 sin x + cos x = 4

27.  is equal tosec2(tan− 1(2)) + cosec2(cos − 1(3))

https://dl.doubtnut.com/l/_Zdn1AFcBYKzH
https://dl.doubtnut.com/l/_WrbnKseRkYbn
https://dl.doubtnut.com/l/_zcyvIrwlTvam


A. 3

B. 10

C. 15

D. 20

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_zcyvIrwlTvam

